SIMULTANEOUS EQUATIONS

Solve the simultaneous equations

1 x+7y=5 2 x+5y=34 3 4x-5y=30 4 3x—-y=5
x=7y==9 xX=5y=-6 4x-2y=24 5x+3y=-8

5 2m+3n=—4 6 -2x+7y=4 i 7 x+5y=-13 8 5x+2y=9
3m+2n=-6 =3x+5y=-5 2x—-y=7 Ix=7y==5

®ZX_:—[I- e WS -2 and 2++y =5 A0 gzl
2 22=18 . x=lp e 48y =34 o y=4

3) -5(7+z}:2>0—z4 o —H=6 y=-%

vt M&m(j/ we thban - Ly +10 =36 7 o i
Y by =15-8 e =F x=lh
§=3-5=-3.5=-%
s n=0 m=-2

5) 5)(@“2’(@ =0 ‘M—M\ e el B

) ) - 240 = 2y-0g =L+0  m =2 y=2
’X_:S-

wmd 2 FFx2L =4 — —2x= -0
D O+5D = x+0x=-12+35 o lx=2 =2
md 2+5y=-13 L Sy=-15  y=-3
_ 106
9?)@-&(@:0 185+552j;8|+25 20 553, 3:1

o = |

Section 4 - Page 1 of 2



SIMULTANEOUS EQUATIONS

Solve the simultaneous equations

19 3(x=y)=8(x+y)=7 20 2(3a=-b)=3(a+b) 21 5(2x=y)=7x+1
2(x+y)+5(x—y)=—65 3(0-4b)+46=5a 3(3X+)')=5(x-y+ 12)
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